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Part - III
MATHEMATICS, Paper -1 (B)
(Telugu Version)
Time : 3 Hours]
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(i) a5, S%H Sotd Srdye.

[Max. Marks : 75

10x 2 =20

1. (3, 4) (7, - 6) Hope Moot HF6d SEF0P Tew K8,

2. 3x+ 4y = 5 36¥0x PDEGETR) edooatrsod’s Irgod.

3. (2,3,-4), (-3, 3, -2), (1, 4, 2), (3, 5, 1) dgeorr fo S0

300750 SSoieosw.

4. 4x-4y+2z+ 5 =0 00 JDETET) 0SBPOL K308’ 8108,

x—2

3 1 4
5. Lim ( x—2 2- ‘J fedoSod.

Tx- 1

) e
6. Lim
x—0

KedosSod.

7. y=log (sin (log X)) e&ons ‘(—i& 30 EroRT o5,
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8. sin™! (3x = 4x3) Bk esom) SHRFG5.
9. ¥y =52 38 (-1, 5) 5¢ 8y50 T KFHod,

10. y=1(0 = X2 + x $Doowrd& x = 10, Ax = 0.1 evonis:pee dy, AY devden
5&’)356110(3.

Derfisn- B 5x4 =20
II.  ‘Sgey’ SSrores (B eo. '
(i) O3 2& (FHOH SIrFTTEn @O05W.

(1) 2578, (BHH Sreld Sroe.

11. (0, 6), (6, 0) & Sgyrer Ko oowSe Bzbao S %go 505
BAEBET) KRS0,

12, % §0008" wgrom [0 308005PH 2 + 243 xy - y2 = 2a2 Gwy,

Erroess $oESmo s:mg‘sboé.

13. ax+ by + c = 0 8% P(x;, y;) $00& eowzrso Q(h, k) e@ond
h-x;, k-y, (ax; + by, + c) ‘
a - b B a2 + b2

e A0S0 s8.

. 1= 2
14. Lim CO: mx(m, n € Z) Kedosod.

x— 0 sin“ nx

15. (FELE Jr@o Sod tan 2x (B3oirdd eS¥eo SXMnsm.

16. 2.8 SS8EH0 Z0o NG 2% ©ond B 708" daronod) DG
T E0RTS0d.

17. x=a(cost+tsint),y=a(sint=tcos t) S50 AJ7 Hocwss t’ 3¢
G598 Potio, &eon PorreR EERd.
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e - C 5x7 =35

oI 8¢ dsemges BHe.

() O37 20 BHOK evTrenen Zrasnss.
(i) =8 BHO D S0,

18. =2,-1), (6, 1), (2, 5) doreor o BevErd vos $01650 EHFS0a,

19. ax® + 2hxy + by2 = 0 px REFBPaso ) $rD0D, el 5655 Eso0 9’
!g + b
(a-b)2 + 4h2.

LONS cos O =

O AEPDOSOA.

20. x+ 2y =k o3 8 2x2=2xy +3y2 + 2x—y=1=0 O 550 podod
DOEDHOB Sor0 DoEHDH KOS 53y Spew T30 w020 &odl k ensen
S’?éogeboé.

21, 28 35S0 Bw),Both Yoo 655 SPrao 5508h0d.

. ~ _ —
22. \/1—x'2+‘\/1—y =a(x-:y) eaooaé%= i‘_% ©J WrH0c.

23. y2=4(x+ 1), y% = 36(9 - X) S5 vomom POEOLNY0LITADN SIS0,

24. 2% 30 IV05re0 9 20.W.3 /25 THPY BHOSH08. 50 @omH
10 2083 o630 &35)5)¢D o ST B S58S0 DT050 BEHIHEOS 2
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